Foobp CoURT SOLUTION

Each grid is a traditional sudoku grid: nine characters must be placed into the cells of each grid so that
each column, row, and 3x3 block contains exactly one of each nine characters. In regular suduoku
puzzles, those characters are 1-9. The first of the two grids uses the letters in ANCHOVIES. The
completed grids are as follows:

A|lI|E]JS|C|[O]JV|[H]|N 3, 8/ 1|19|5 /67|24
H{C|S|I|N|V]A]|O 516 | 713421981
VINIOJH|E|A]S|C|I 2,941 ]7,8|5/6]|3
I 1TA[H]JC|V|E]JO|IN]|S 67815911342
EIO|CINJA[S|H|I ]|V 4,5/3|8|2 71196
NIS[V|IO|I|H]JE|[A]|C 9/1/2]|16,3|4]|8|7 |5
OlE[NJA|S|C|I|V]|H 712914156 38
C|V|IA|JE|[H]I|N|S|O 8|4 |5|17/6|3})2|1 9
S{H|IT]JV]|]O|N E|lA 113612 8, 914|5]|7

The use of the letters in ANCHOVIES and the salad mentioned in the flavor text hint at “Caesar,” which is
given explicitly in the flavor text of the intramural version. Each letter along the shaded diagonal in the
sudoku grid of letters must be Caesar-shifted forward in the alphabet by the corresponding number
along the diagonal in the sudoku grid of numbers. The result spells the solution: DISHCLOTH

A+3 =
C+6 =
O+4 =
C+5 =
A+2 =
H+4 =
l+6 =
S+1 =
A+7 =

I 4 O0rmrOxITw-—20
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